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Ouestion Number ¢ 1 Quoestion [d : 6589882021 Question Type : MOOQ Optlon Shalfling : Yes DMsplay Ouiestion Number @ Yes
Single Line Question Cpibon @ Mo Option Orientation @ YVertical Allowed Progression @ Yes Muomber of Replay 1 999 Play On Load :

Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cestion Label : Multiple Choice Juestion
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Consider the following segment of C program
#include <stdio h>
int main ()
{
intx=4 1y, z;
i =——A

"

===

printf ("%d, %d, %od ", 2, ¥, 3 );
return 0;
|
After the execution of the above code the outputis :
Oiplions :

14.3,3

Question Number : 2 Question Td ; G3E98E2022 Guestion Type : MOQ Option Shuffling : Yes Display Chuestion Number : Yes
ﬁingll'_‘,l‘: l..'r:;ll'%nnﬁ;linn ?pl'km i No Option Orientation : Verfical Allowed Progression ; Yes Nomber of Beplay : 999 Play On Lood ;
v Unmt nuble : Yes

Correct Marks : 3 Wrong Murks ; 1
Cueshon Lake] - Multiple Chowe Question

Consider the following segment of C program :

intx, y, n;

x=1

y=1;

if (0> 0)

r=x+1

y=y-1
After execution of above program segment the valueof v and yif n=113:
Options :

=2 y=0
1
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Uuestion Number : 3 (roestion Id : 6582882023 Cuestion Type : MO Option Shuiiling : Yes Display Question Nomber @ Yes
Single Line CQoestion Option : Mo Option Orientation : Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 YWrong Marks : 1
Cuestion Labe] @ Multiple Choice Cuestion

Consider the follovwing segment of C program :
intx, i;

X =1
y=17
while (1% >=0)
{
=4+ 1
Vy=y+2

}
Number of times the body of while loop is executed :
Opiions =

1_2

Omestion Number : 4 Question [d : 653589882024 Cuestion Type : MOQ Option Shullling : Yes Display Question Number : Yos

Single Line Question Option : Mo Option Orientation : Yertical Allowed
Mo Control Enable : Yes

Correct Marks : 3 Wrong Muarks : 1
Zuestion Label - Multiple Choice Question

Conzider the following segment of C program :
mt i, y;
j=0;
forfi=0i<=5i=i+2/3
1
j=1+1;

t
The number of times the body of tor loop is executed

Oiptions ;

9
1

~

-

ression ; Yes Nomber of Beplay : 999 Play On Load :

collegedunia:
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3 infinite

11

Ouiestion Number : 5 Question 1d : 6589882025 Question Type : MOQ Oplion ShafTling : Yes [l'iSpIil¥ Cruestinn Number : Yes
ﬁ::l:?f; Lim%m_tljun gpﬁm 3 Mo Owption Oreientation @ Vertical Allswed ression ; Yes Number of Replay : 999 Play On Load :
v ot nhle : Yes

Correct Marks : 3 Wroong Marks : 1
Cnestion Label ; Multiple Chotce Question

Consider the following segment of the C program :
Finchide <stdio h>
#define SOR (1) (1*1)
int maan ()
{
mta, b =3;
a=5S0R (b +2);
printf ("%d\n", a);
return O0;
}
The output of the above program is:

Oipiions =

25
1

OQuestion Number @ & Question Bd : 6389882026 Cuestion Type : MO Option Shulfling : Yes Display Question Number @ Yes
Single Line Quesiion Opiion @ No Option Orientation : Yertbcal Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Hovw many of the tollowing declarations are correct ?
intz=7.0;
double void = 0.000;
short array [2] = {0, 1, 2);
char ¢ ="\’
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Opiions =
i None

" (e iz correct

= Twmo are correct

i All four are correct

Ouiestion Number : 7 (Quoestion Id : 6589882027 Cuestion Type : MOQ Option Shaifling : Yes Display Question Number @ Yes
Single Line Question Cptlon @ Mo Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks @ 1
Guestion Label - Multiple Choice Question
Conzider the following C program
#include <stdioh>
int miain ()
{
inta =500, b= 100, ¢;
it (l7 == 400)
b =300,
c = 200,
printf ("b = %d ¢ = %ad\u1", b, ¢);
return ()

!
The output of the above program :

Options :

 b=2300c=200

5 b =100 ¢ = garbage
" b = 300 ¢ = garbage

4 b=100¢=200

Orestion Number : 8 Ouestion Id : 658YSE2028 Ouestion Type : MOD Optien Shalfling : Yes Display Question Sumber : Yes
iiﬂnglcil.im: l'.%ul:.sl'run ?ph'un Mo Option Orientation @ Vertical Allvwed Progression : Yes Nomber of Beplay : 999 Play On Lood ;
1 ntrol Ennble : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Labeal @ Muldtiple Choice Ouestion
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Consider the following C program :
#define int char
main ()
{

inti=65;

printf ("sizeof (i)=%d", sizeof (i));
!

The output of the program will be -

Options :
y zizeof (i) = 1

sizeof (1
i (1)

sizeof = 1
3

Ouestion Number : 9 Question Ld : 6580882029 Cruestion Type : MOQ O
Single Line Question Chption : Mo Option Orientation @ Vertical Allowed

Mo Controd Enable : Yes
Correct Marks : 3 Wrong Marks ¢ 1
Cuestion Label - Multiple Choice Cuestion

Consider the following C program

o ()
{
inta=10;
if (7 & 8 = =8)

printt ("Bit no. 3 is on”);
elze
printf ("3rd bit is off”),
}

The output of the program -
Oiptions :
i Jrd bit iz oft

5 No output

~

-

Shuaifling : Yes Display Cuestbon Nomber : Yes
e Mumber of Replay : 999 Play On Load

collegedunia:
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Error
3

Bit no. 3ison

Quiestlon Number : 10 Question Id : 6389882030 (uestion Type : MOQ Optlon Shuffling : Yes Display Questlon Number : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression : Yes NMumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label ; Multiple Chawce Question

What will be the output of the following program ?

mamt ()

L]

Static char s[ ] = "Rendezvoust!”

ion Number ; 11 Question Id ; 6389882031 Question Type : MOQ Option Shoflling : Yes Display Question Number ; Yis
Sh:“nglljl: Li::l%nmliun gptiun Mo Option Orientation : Yertical Allwed Propgresion ; Yes Nomber of Beplay @ 999 Play On Lood ;
. onl mnble : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labesl @ Multiple Choice Coestion

Comzider the following segment of C program :
m=1;

do

{

o= m+ 2,

o while {mr < 10)

The number of imes the body of do—while loop 15 executed :

Oplions :

I:I‘
l--r

gcollegedunias

Il ' L st Siusa et v Plalars

-



Sl

Chiestion Number : 12 Question Td ; 6389882032 Chuestion Type - MO Option Shalfing : Yes Display Question Number : Yes
ﬁing{_:: Lim%ﬂes&un?ﬂil‘m i Mo Owption Orientation @ Yertical Allowed Progresdion : Yes Namber ol Beplay : 999 Play On Load :
o Conteod Ennble : Yes

Correct Marks : 3 Wrong Muarks : 1
Cmestion Label - Muitiple Chotce Question

Which of the follovwing function receives the character from kevboard, but not
echo the character ?

Ciplions
; getchar()

tch
, Betche()

tch
3.35' L)

tgetchary()
4

Cuestion Number ; 13 Question [d ; 6589882033 Question Type : MOQ Option Shuffling : Yes Display Question Number : Yes
Shnringll: Line Qoestion Chption : No Option Orientation : Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
v Control Ennble : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Question
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Consider the following C segment :
maing )

int i
for (i ==1; i <= 10; i++)
{

if (i < 5)

continie;

elze

break;

printf("%ed”, i);

}

The output of above program :

Opiions =
i =1,0,23,4,5,6,7,58,9,10

—1,0,1, 4 3. 4
2

32678910

No output
4.

Oueestion Number @ 14 Question Td 2 658982034 Cruestion Type : MOQ Option Shuffling : Yes Display Question Number : Yes
ﬁin;;t i.lm??ua%hn gpﬂm + Mo Option Orientation : Vertical Allowed Progresdon : Yes Namiber of Replay : 999 Play On Lond -
o Cont mable @ Yes

Correct Marks : 3 Wrong Marks 1 1
Cuestion Label | Multiple Choice Cuestion
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Conszider the follovang C segment :
maini)
{
intj, x;
r=0;
for (j=0; j <=5; j++)
{
switch (j —1)
{
caze O:
case—1:
r5=1;
break;
case 1:
case 2 :
case J:
y+=2
break;
defaunlt;
= 3;
|
printf{"%ad”, 1);

}

The output of the above program

Oiplions =
x 1,2.4.6.8 11

[ s Rl |

5 -1,0,1,2,3,4

gcollegedunias
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Ouestion Number @ 15 Question Ld : 6589882035 (Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes MNomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Caestion Label | Multiple Choice Question
In the following C program consider that short int 1= 2 byte wade
#include <stdio h>
int maing )
int f=1;
while{j <=255)
{
printf("%ec Fad ", £, 1)
-+
t
refurn 0;
|
How many times the while loop will get executed if a short int is 2 byte wide ?
Options =
k. Infinite tinmes

255 Hines

254 himes

Oueestion Number @ 16 Quoestion Id : 65389882056 Cuestion Type @ MOQ Option Shoiffling @ Yes Display Question Somber @ Yoes
Sipgle Line Quoestion Option : No Option Orientation : Vertical Allowed Progression ; Yes Number of Beplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Muarks : 1
Zuestion Label - Multiple Choice Questicon

Which of the tollowing Boolean Expression is in standard POS form ?
Options =

i (A+B).(A+B+C)

a ABC + ABC

5 (A+B+C)(A+B+C)

2 (A+B+C)+ 4

gcol legedunias
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Ouestion Number @ 17 Question Ld : 6589882037 (Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Na Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Caestion Label | Multiple Choice Question

The decimal number -25 is expressed in the 2's complement form as :

Cipiions =
i 00011001

11100111
2

11100110
3.

F 11100101

Ohestion Number @ 18 Question Dd : 6589882038 Cuiestion Type © MO Optien Shalfling : Yes Display Cuestion Namber @ Yes
ﬂﬁ? E.I.nz:ltll?u-:.s;‘iun Epthm ¢ Mo Dhption Orientation : Yertical Allvwed Frogression : Yes Nomber of Beplay : 999 Play On Load :
antrol Enable : Yis

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choice Question

In decimal the 2's complement form, the binary number 11111110 is equal to

Oiplions :

Cuestion Number ; 19 Question Id ; 65389882039 (Question Type : MOOQ Option Shuffling : Yes Display Question Samber : Yes
Single Line Question Option : No Option Orientation : Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 YWrong Marks : 1
Cuestion Labe] @ Multiple Chowce Cuestion

The hexadeamal number tor (23132133), is:

{iptions =
i B79F

A79F
2

gco! legedunias
Il ' L st Siusa et v Plalars

-



B79E

B79FF

Ouiestion Number : 20 Question Id : 6359882040 (uestion Type : MOQ Optlon Shuffling : Yes Display Questlon Number : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression : Yes NMumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label ; Multiple Chawce Question

How many octal digits are required to reprezent a decimal number 3255 ?

Oiplions =

3

1

5 10

Cruestion Number ¢ 21 Question [d : 6589882041 Question Type © MOG Option Shuffing : Yes Display Cuestion Namber : Yes
Single Line Question Crption : No Option Orientation @ Yertical Allowed Progression : Yes Number of Replay : 999 Play On Lood :
Mo Controd Enable : Ves

Correct Marks : 3 YWrong Marks : 1

Cuestion Label : Multiple Choice Question

How many bits are used to represent an Exponent in single-precision floating
point binary number representation ?

Oipiions =
10
i i

Cuiestion Number ¢ 22 Question Id : 6589882042 CQuestbon Type : MOQ Option Shuffling : Yes Display Cuesthon Mumber @ Yes
Single Line Question Cption @ No Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
iCueshon Label | Multiple Chowce Question

The decimal number 250 is equal to binary number

(ipiions =

gcoi legedunias
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G 11111001
11111010
2.
11111011
3.

11110111
4

Ouestion Number : 23 Question Id : 6589882043 Cuestbon Type : MOOQ Optlon Shiaffling : Yes Display Question Mumber : Yes
Single Line Question Crption © No Option Orientation @ Yertical Allowed Progresion @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ¢ 1
Question Label : Multiple Choice Question
Consider the following C program :
o )
inta=12i=0:
while (@ >>=i)
i
printf {"a =%d i =%d\n", a, 1)
i++;
|
The output ot the program :

Options =
a=12 =0
k:
a=12 i=0
o d=6 i=1
n=12i=0
a=bi=1
= a=1i=2
=12 i=10
g=6 =2
4 =1 f=

Oueestion Number : 24 Question Id : 6589882044 Question Type : MOQ Option Shoffting @ Yes Display Question Somber @ Yos
Kipgle Line Quoestion Cption : Mo Option Orientation : Vertical Allowed Progression ; Yes Number of Replay @ 999 Play On Losd :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Label - Multiple Chotce Question

gcoi legedunias
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Octal equivalent of (11011001}, is:

Oiptions =

b6l
8

£
L3
-

Ouiestion Number : 25 Question [d : 6589882045 Question Type : MOQ Optien Shulfling ; Yes Display Question Number : Yes
ﬁ_ﬂjngl: Li:;%mﬁlun Epﬁm ¢ Mo Oiplion Orientation @ YVertical Alewed Progresion : Yes Nomber of Beply 2 999 Play On Lopd :
Control Ennble : Yes

Correct Marks : 3 Wrong Marks ;1
Cuestion Label | Multiple Choice Cuestion

The value of the hexadecimal sum (DF),, +(AC)y, :
Options :

15B
i

1I7A
2.

18C
3.

1AB
4

Oeestion Number : 26 Question Td : 6589882046 Chuesthon Type - MOQ Optien Shalfling : Yes Display Cruestion Namber : Yes
ﬂng'? !,lna%uas;‘hn %plhm + Mo Ohption Orientation : Vertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
v Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Guesticn

In a 4-variable Karmmaugh map, a 1-variable sum term iz produced by :
Opilons =

i A d-cellgroup of 1's

2 A S-cell group ot 1's

" A B-cell group of 0's

A d-cell group aof 0's
4

gcol legedunias
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Ouestion Number @ 27 Question Ld : 6589882047 Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Na Option Orientation @ Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Caestion Label | Multiple Choice Question

Boolean expression A+ AB is equivalent to

Opiions =

A+B
1.

COuestion Number : 28 Question Id : 6589882048 CQuestion Type : MOQ Option Shoffting : Yes DHsplay Question Mumber @ Yes
Single Line Question Option @ No Option Orientation @ Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labl - Multiple Choice Cuesticn

The Boolean expression (X +Y) (X +Y)+ (XY + X) simplifies to
Options :

k2

X+}

Ouiestion Number : 29 Question Id 1 6389882049 (ruestion Type : MO0 Option Shuiffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes NMumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Cestion Label - Multiple Chotce Juestion

Which Boolean expression is for Ex-OR ?

Oiptions ;
y AB+ AB

AB+ AB

gcoi legedunias
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Ouestion Number @ 30 Question Id : 65898E2050 Cuuestion Type : MOGQ Option Shuffling : Yes Display Cuestion Number @ Yes
Single Line Question Cpiion @ Mo Option Orientation : Vertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choice Cuestion

For half adder the Boolean expression tor sum (5) and carry (C) for input A and
B is given by -

’ 5=AB+AB, C=AB and5=4 & B, C = AB Bath

Ouestion Number : 31 Question Td : ASR9EB2051 CQruestion Type : MOQ Opdion Shuffling : Yes Display Question Number : Yes
!?;Lng{t !.lml%mtl‘lhn gplhm ¢ Mo Option Orientation : Vertical Allowed Progression : Yes Nuoimber of Replay : 999 Play On Load -
v Cant tihle @ Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chowce Cuestion

In sequential circuit o/p depends on :

(Ohpiions =
present input only
1, :

past mput only
2

. present as well as past input

" neither present nor past inputs

Ouestion Number : 32 Question Td : 45389882052 (Question Type : MOQ Optlon Shuffling : Yes Display Questhon Mumber : Yes
Single Line Question Option : Mo Option Orientation : Vertical Allowed Progression @ Yes Muomber of Replay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Wrong Marks: 1
Question Label - Multiple Choice Cuestion

Characteristics equation for JK flip-flop is -

Opiions =
gcoi legedunias
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y Semid = JT'(_EH +}TQ.'I
5 Q-'l ' R IQ- +KQ||

3 Q-J S Fﬁu:

& Quar= EQ"

Ouestion Number : 33 Question Id : 6589882053 Cuestbon Type : MOOQ Optlon Shiaffling : Yes Display Questhon Mumber : Yes
Single Line Question Crption © No Option Orientation @ Yertical Allowed Progresion @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ¢ 1
Suestion Label : Multiple Chaoiwce Question

Whach 1s true for D-flip flop ?

Oiptions :
1 Dutput 1= same as mput

N Output is complement of input

o Output does not depend on input

4 Outputs depend on past input and clock

Ouestion Number @ 34 Question Id : 6559882054 Question Type : MOGQ Optlon Shuffling : Yes Display Cruesthon Mumber @ Yes
Single Line Quesiion Option @ No Option Crientation : Yertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correet Marks : 3 Wrong Marks: 1
Cestion Label | Multiple Choice Question

Which data type 1= most suitable for storing a number 65000 in a 32-bit system ?

Options =
i signed short

5 unsigned short

lon
3 -

int
4.

Ouiestion Number @ 35 Question Id : 63E98E2055 Question Type : MOGQ Optlon Shoffling : Yes Display Cuestlon Mumber : Yes
Single Line Question Cpilon @ Mo Option Crientatlon @ Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

Mo Control Enable : Yes .
collegedunia:
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Correct Marks : 3 Wrong Marks : 1
iCueshon Label ;| Multiple Chowce Question

Which statement is most appropriate for coprocessor ?

{i) Coproceszor is design to provide fast, love-cost hardware implementation
for complicated arithmetic function.

(ii) Coprocessor is a separate instruction set proceszor that is closely coupled to
the CPUL.

{iii) Coprocessor iz a processor whose instructions and registers are direct
extension of CPU,

Ohptions :
; i, ii urd}'

i, iit only
4 )

i, iii only
3- o

Cruestion Number ; 36 Question [d ; 6580882056 Cruestion Type : MOQ Option Shoifling @ Yes Display Question Sumber @ Yes
Eiﬂngjr Line %uwtl'liun $pl.1un i Mo Option Orientation ; Yertical Allvwed Progression s Yes Nomber of Beplay : 999 Play On Laood :
v Control Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
caeston Label - Multiple Chowte Queston

Give the correct matching tor the tollowing pairs :

A Bubble Sort 1. Oflogn)
B. Binary Search 2. On)

C. Binary Tree Search 3. O(n’)

D. Merge Sort 4 Ofnlogn)
Options :

i A3B-1C-2D-4
5 A3B-1C-4D-2
i A-lB-3C-4D-2

4 A-lB4AC-3D-2

Ouestion Number : 37 Question Id : 6589882057 (uestbon Type : MOOQ Option Shiaffling : Yes Display Question Mumber : Yes
Single Line Question Cption © No Option Orientation @ Yertical Allvwed Progression @ Yes Number of Replay @ 999 Play On Load -

Mo Control Enable : Yes
gcollegeduniaa
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Cuestion Label | Multiple Chowce Question
Which of the following sorting algorithms has the lowest wuorst-case
complexity ?

Oiptions :
1 Chaick zort

Merge =ort
2.

" Bubble zort

Insertiom sort

Orsestion Number : 38 Question [d : 6589882058 Cuiestion Type : MOOQ Option Shuffling : Yes Display Question Number : Yes
Elmd&!.lr::l%m':‘lnn ?pﬂml £ Mo Option Orientadion @ Yertical Allowed Progresion : Yes Nomber of Replay @ 999 Play On Lod :
o Control Enable @ Yex

Correct Marks : 3 Wrong Marks ; 1
Cuestion Label - Multiple Choice Cuestion

An example of data storage device is

Oiptions :
) Multiplexer

5 Register
3 Full Adder

¥ Decoder

Crestion Number : 39 Question Td : GSRYERI0SY  CGuestion Type : MOOQ Opien ShalTling : Yes Display Question Somber : Yes
Eingf:t Lim%m;liun gpmm ¢ Mo Option Orientation : Vertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Laosd -
v ol nble : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label © Multiple Chowe Question

The number of distinct Boolean expreszion of 4 variable is -

Optinns :
16

3
5 1024

gcol legedunias
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Duestion Number @ 40 Quoestion Id : 6589882060 (uestion Type : MOQ Option Shoffling : Yes Display Cruestion Nomber @ Yes
Single Line CQuoestion Option : Mo Option Crientation : YVertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1

Guestion Label - Multiple Choice Question

For 1 vaniable Boolean exprezsion how many cells or squares m Kamaugh Map
(K-map) :

Options :

2n
T

n-

Al

Ouestion Number @ 41 Question Id : 6589882061 Question Type : MOQ Option Shuflling : Yes Display Question Number @ Yes
Single Line Question Opiion @ No Option Orientation : Yertical Allowed Progression @ Yes MNumber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuesnon Label @ Multiple Choice Cuestion

Let M,(Z,) denote the set of all 2 x 2 matrices with entries from Z,, where Z,
denotes the set of integers modulo 2. The function f: M,(Z;)— M,(Z,) given
by fla)= ¥ is:

Oiplions :

¢ injective but not surjective

bijectiv
- bijective
4 surjective but not injective

i neither imective nor surjective

Oueestion Number : 42 Question 1d : 65898R2062 Cruestion Type : MOQ Option Shuffling : Yes Display Question Number : Yes
ﬁiﬂﬂ::f !-lm??uﬁ.%hngpﬂm;ﬂu Owption Orientation : Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
o Cont able @ Yes

Correct Marks : 3 Wroong Marks ¢ 1
Cuestion Label | Multiple Choice Question

Consider the function f: R — R given by f{x) = (x = 2)[{ 2 = 2){x - 3)|. The

function fis
gcollegedunias
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i differentiable at s = 2 butnot ata =3
3 ditterentiable at 1 = 3 butnot ata =2
2 differentiable ati=2and 1 =3

% differentiable hoth neither at x = ?norata =13

Question Number : 43 Question Id : 6589882063 Cuestion Type : MOOQ Optlon Shulfling : Yes Display Questbon Mumber @ Yes
Single Line Question Cplion @ Mo Option Orientation : Yertical Allvwed Progression : Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labke] @ Multiple Chowce Cuestion

>

The equation e

Options :
; parabola

=2 represents the :

5 pair of lines
. hyperbola

4 ellipse

Ouiestion Number : 44 Question Id : 6589882064 Question Type : MOQ Option ShulMing : Yes Display Question Number : Yes
;Eingf:-.- !.im%m&iun Eplillﬂ i Mo Ohption Drientation © Yertical Allowed Progresion ; Yes Number ul'keph} 2999 Play Om Lood :
o Control Enable : Yes

Correct Marks : 3 Wroog Marks ; 1
Question Label : Multiple Choice Question

Consider AABC. Take 3 points on AB, 4 on BC and 5 on CA such that none of
the points are vertices at AABC. The number of triangles that can be comstructed
using these points is -

Oplions :
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Ouestion Number @ 45 Question Ld : 6589882065 (uestion Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ No Option Orientation : Vertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Cuestion Label | Multiple Choice Question

Suppaose f{1) and g{1) are real-valued differentiable functions such that (1) 2
g (1) for all 1 in [0, 1]. Which of the following is necessarily true ?

Opiions =

. fil) 2 gil)

4 fil) = g(1) 2 fi0) - 2(0)
4 f =g has no maxdmum on [0, 1]

p f+ g is a non-decreasing function om [0, 1]

Cuestion Number ¢ 46 Question Id : G5R9RR2066 Question Type : MOQ Opthon Shoffling @ Yes Display Question Momber @ Yoy
Single Line Question Cption @ Mo Option Orientation : YVertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label : Multiple Chotce Question

For a real number 1 we let [1] denote the largest integer not exceeding 1. For a

=
Liaf 2]
L

I

natural mumber u, let a, = . The limit im a,, is -
n—ra
{piions =

g @

" does not exist

Ouestion Number @ 47 Question Id : 4589882067 Question Type : MOQ Option Shuflling : Yes Display Question Mumber @ Yes
Single Line Question Opiion @ No Option Orientation : Yertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Question

1 =

jl"r_ dt

The value of lim4—— iz
e e |

Opiions =

gcoi legedunias
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Ouestion Number : 48 Question Id : 6589882068 Cuestbon Type : MOOQ Optlon Shiaffling : Yes Display Questhon Mumber : Yes
Single Line Question Crption © No Option Orientation @ Yertical Allowed Progresion @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ¢ 1
Suestion Label : Multiple Choice Question

| WM
: . T L] ek
Let g € N. The number ot elements in set i| CO5—+ 1 5in— J |ne N [-13
\ i q .}
Ohptiogs :

l
I

B

intinite
=3

2
4 1

Ouiestion Number @ 4% Question Id : G3R98E2069 Cuestion Type : MOQ Option Shuifling : Yes Display Ouestion Mamber @ Yes
i:nngf:l:: Line Croestion Chplion ; Mo Option Crrientation @ Vertical Allovwed Progression : Yes Nomber of Replay : 999 Play On Load ©
v Control Enable @ Yes

Correct Marks : 3 Wrong Marks : 1
Crestion Label @ Multiple Choice Cuestion

If @y, a3, 03,0y are roots of the equation iY+27+1=0, then the value of
(1-2ay ) (1-20; {1 -2a3){l -2ay)isequal to:
Oplionns =

19
5

gco! legedunias
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Ouiestion Number : 500 Question Lo : 6E8UEE2070 Cuestion Type @ MOQ Optien Shulfling : Yes Display Question Number : Yes
Eingllé: !.Im%uesg:un gplhm £ Nu Option Crrientation : Vertical Allowed Frogresion : Yes Nomber of Replay : 999 Play On Eaad -
v Control Enable : Ves

Correct Marks : 3 Wrong Marks : |

Cestion Label - Multiple Cholce Cuestion

There are ways i which n identical balls can be grouped such that each group
contains equal nimber of balls. Then the minimum value of n is -

(iptions =

y 120

" 150

5 160

4 0

Ouiestion Number : 51 Question Id : 6389882071 Question Type : MOGQ Optlon Shoffling : Yes DMsplay Cuuestlon Number @ Yes
Single Line Question Cpilon @ Mo Option Orientatlon : Vertical Allowed Progression : Yes Number of Heplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label © Multiple Choice Guestion

Let A =11, 2, 3}. Then the number of one-one functions from A onto A is :

Opiions :

1
1

[ %)

Oueestion Number : 52 Question 1d : G5R9RRINT2 Cruestion Type : MOQ Option ShufMing : Yes Display Question Number : Yes
Eimll:; l.lml%uﬂ;‘hn Eplhm ¢ Mo Option Crientation @ Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Laged =
v oot nable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Chawce Question

Let Z be the set of all integers and let * be a binary operation in Z defined by
a*b=a+b+10tora, b e Theidentity element of the group (7, ") is:

Options =
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Omestion Number : 33 Question Ld 5 6589882073 CGuestion Type : MOQ Option Shulfling : Yes Display Question Namber © Yes
ﬁinﬂ(:: Li::nl%ml:lhn gpl.i.un Mo Owption Orientation © Vertical Allowed Progression ; Yes Nomber of Beplay : 999 Play On Load :
v Controd Enable : Ve

Correst Morks : 3 Wrong Marks ; 1
Cuestion Label : Multiple Choice Question

The number of non-izomorphic groups of order 101 is :

Oiptions :
1

I

infinite
4.

Question Number : 54 Question el : 6589882074 Question Type : MICQ Option Shoifling : Yes Display Question Namber : Yes
ﬂjrqglr Line ?nﬁ;‘wn gplmn i Mo Option Orientation ; Yertical Allwwed Progression ; Yes thruii@phﬁ:m Play Om Lo :
Uontred Ennble :

Correct Marks : 3 Wrong Muarks : 1
Zuestion Label - Multiple Choice Question

The number of distinct cycles of length rin 5, is

Optiogs :
1
(=)
_L (rr 1)
o |
o Fin—=rj
1
F{n—r)

gcoi legedunias
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1 (r+ 1)
win—r)

4

Ouestion Number : 55 Question Id : 6589882075 Question Type : MOQ Option Shuffling : Yes Display Question Number @ Yes
Single Line Question Cption : Mo Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuesnon Label @ Multiple Chowee Cuestion

Which one of the following is not a subspace of the vector space of n x n
matrices over a field F 7

Oiptions ;

y The set of all upper (lower) triangular matrices of arder

o The zet of all non-singular (zingular) matrices of arder
The set of all symunetric (skew-symmetric) matrices of order n

i The zet of all diagonal matrices of order .

Ouestion Number : 56 Quoestion Id : 6589882076 Cuestion Type : MOOQ Option Shuffling : Yes Display Cuestion Namber @ Yes
Single Line OQmestion Cption : Mo Option Orientation : Yertical Allvwed Progression : Yes Momber of Replay : %99 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labe] @ Multiple Chowce Cuestion

Consider the basis B = {1y, 05, 73} of R? where = (1,1, 1), ¢ = (1, 1, O),
py = (1, 0, 0) and let T:R* - R" be a linear transformation such that
Ty )=(1,0),T(15)=(2,-1), T{r3) = (4, 3). Then T(2, -3, 5) is equal to :

Ohptions ;

. (-1, 5)

0,0
5 (0,0
3_13.4}

9,23
4. t '

Ouiestion Number : 57 Question Id : 6589882077 Quiestion Type : MOQ Option ShulMing : Yes Display Question Number : Yes
;Eingf:-.- !.im%m&iun $plillﬂ ¢ Mo Option Orientation @ Yertical Allowed Progresion : Yes Namber ul'ﬁephy 2999 Play Om Lo :
v Control Enable : Yes

Correct Marks : 3 Wroog Marks ; 1
Cuestion Label : Multiple Choice Question

It Wy and W, are two inner product spaces then W;+W; is:
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Opiions =
i not a vector space

5 a vector space
not an inner product space

40 HINeET Pﬂ:ld'l.lﬂ.'t Jpace

Ciestion Number : 58 Question Id : 65898R2078 Question Type : MOQ Option Shuflling : Yes Display Cruesthon MNumber @ Yes
Single Line Question Cption : Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label | Multiple Choice Question

Let A and B be square matrices of order /. If A is similar to B, then which one of
the following is true ?

Options :

. trid) = tr (B)
tr( .

5 r(A) > tx (B)

3 tr{A} < tr ()

4 tr{d) = tr (B)

Cruestion Number ; 39 Question [d ; 658988207 Question Type : MCQ Option Shoffling : Yes Display Question Samber @ Yes
Single Line Question Option : No Option Orientation : YVertical Allowed Progression : Yes Noamber of Replay : 999 Play On Load :
Mo Controel Enable : Yes

Correct Marks : 3 Wrong Marks ; 1
Cuestion Label - Multiple Choice Question

Let {a,}. {&,} be bwvobounded sequences. Then
Options :

| Tmla, +b,)<Tma, +Tmo,
5 im(a, +b,)zlima, +Em b,
5 Lim{a, + &, )=km 1, +hm b,
q. E'[ My T llrl l‘..".ﬂ'l‘ (i, + I‘.'I }
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Ouestion Number @ 60 Question Ld : 6359882080 (Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label | Multiple Choice Question

The=et 4 =-I£ -pe Z,qe Z ,ged(pq)= J.lr is:
q ,

Oiptinmns :

i uncountable

" bonmded and findte
countable

conmitable and boanded

Oriestion Number : 61 Question Id : 6589882081 Cuestion Type : MOQ Option Shuffling : Yes Display Chuestion Number : Yes
Single Line Question Option : No Option Orientation :© Vertical Allowed Progresion : Yes Namber of Beplay : 999 Play On Load :
Mo Centrol Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cestion Label : Multiple Choice Juestion

Let f: [a, b] = R be a contimuous function, such that fla) < f{b). Then:

Options :
y fila, b)) = [Ra), fib)]

5 fila, b1y 2 [Rm), fb)]
. fila, B]) = [fia), )]

, [, o) = [fa), fib)]

Ouiestion Nummber : 62 Question Id : 6589882082 Cuestion Type : MO Option Shuffling : Yes Display Question Number : Yes
Eingllf !.Im%uagg:un gpllm t Mo Ohption Orientation @ Vertical Allowed Progresion : Yes Mumber of Replay : 999 Play On Foad
v Control Enable : Yes

Correct Marks : 3 Wrong Marks 2 |

Cuestion Label ; Multiple Choice Question
. PR o | &

The series ¥ — i5:

e | i
I

Oiptions =
; uniformly convergent

5 anly point-wise convergent
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3 divergent

P oscillatory

Ouiestlon Number : 63 Question Id : 6389882083 (uestion Type : MOQ Optlon Shuffling : Yes Display Questlon Number : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression : Yes NMumber of Replay : 999 Play On Load :

Mo Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Cuestion Label ; Multiple Chawce Question

= r o
The powver series > A" s
it (2

Oplions -
i H'er_l:where convergent

3 nowhere convergent
5 convergent for |a| <1only

4 Convergent for |a| > 1 only

Ouiestion Number : 64 Question [d : 658982084 Question Type : MO Option SholTling & Yes Display Question Number @ Yes

Single Line Question Cption ; No Option Orientation : Vertical Allowed
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ;1
Cuestion Label | Muitiple Choice Question

If fis analytic in a domain, then :
Uptions =

f' is analytic in the domain
i Tl ¥

5 f7 iz analytic but f is not analytic in the domain

5 f iz analyticbut f° is not analytic in the domain

4 neither _.I‘" nor _?" 15 analytic in the domain

Progression : Yes Nomber of Replay : 999 Play On Load :

Cmestion Number @ 65 Question Id : 6389882085 Cuestion Type @ MO Option Shoiffling @ Yes Display Question Somber @ Yes
Single Line Quoestion Option : Mo Option Orientation : Vertical Allowed Progression ; Yes Number of Beplay : 999 Play On Losd :

Mo Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Zuastion Label - Multiple Choice Question
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i ., where C is the ellipse %+%=L and the

W

The value of the integral f -

integral 1= taken in positive sense, is

(ipiions =

0
1

27

iy

— i

Ouestion Number ; 66 Question [d : 6389882086 CQuestion Type : MOQ Option Shaifling : Yes Display Question Samber : Yes
ﬁin-gl!;l‘: Line %nrs;liun ?pl:iun Mo Oplion Orientation @ Yertivcal Allivved Progresion : Yes Nomber of Replay : 999 Play On Load :
v Controd Enable : Yes

Correct Marks : 3 Wrong Muarks ; 1
euestion Labs] - Multiple Cholce Cuestion

The radius of convergence of the power series % =" 15
=1
Options :

3

Pt

Ouestion Number @ 67 Question Id ; G3R9EE20RT Cuestion Type : MOQ Option Shuffling : Yes Display Ouestion Mamber @ Yes
i:nqg Line Croestion Crplion ; Mo Option Crrientation @ Vertical Allvwed Progression @ Yes Nomber of Replay : 999 Play On Load ¢
v Control Enable @ Yes

Correct Marks : 3 YWrong Marks: 1
Cuestion Latesl | Multiple Choice Cuestion

The Taylor's series for sin = is:

Options =
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Ouiestion Number : 68 Question [d : 65898E2088 Question Type : MO Option Sholfling : Yes Display Question Number : Yes
i!uhgl: L‘::nl%m\:lhh Epn-m Mo Option Orientation @ Yertical Allvwed Progresion : Yes Nomber of Reply : 999 Play On Laoad :
Cont mible : Yes

Correct Maorks : 3 Wrong Marks 5 1
Ciestion Label | Multiple Choice Question

The =olution of the differential eguation (4 +.|_.r11‘:j=n1 is given by, a being
ik

given constant and ¢ be the constant of mtegration :
Opilons =

[
W=

(v =X) =atan (y —c)
P

(- u—tanj ¢ !
3

aly—xj= em! y- I
4.

Oueestion Number : 69 Question I : GSE9EEI08Y Cuestion Type @ MOOQ Option Shaffling : Yes Display Question Number @ Yes
Single Line (puestion Crpiion @ No Option Orientation @ Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
Mo Controd Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label - Multiple Chowce Cuestion

The famuly of straight lines passing through the origin is represented by the
differential equation -

Oiptions :

; widx + xudfy =0
yily + ydy =0

2.
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5 xdy —ydx =0

ydy =xdx =0

Ouestion Number : 70 Question Id : 65R98E2090 Cuestion Type : MOGQ Option Shuffling : Yes Display Cuestion Number @ Yes
Single Line Question Cpiion @ Mo Option Orientation : Vertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Chowce Cuestion
If u; and p, are bwo integrating factors of the differential equation Mdx + Ndy =0
whose ratio is not constant, then the general solution of the differential
equalon 1s
Options :
=(CHa
p, By=eia

+ U=
a Hy + Ha
5 Hy=Ha=t

P2

Oniestion Number : 71 Question Id : GSE9ER2091 Questbon Type : MOOQ Optios Shaffng : Yes Display Question Mumber @ Yes
Single Line Question Chpdion : No Option Orientation @ Yertical Allowed Progression @ Yes Number of Replay : 999 Play On L -
Mo Control Enable = Yes

Correct Marks : 3 Wrong Marks : 1
Cruestion Label Multiple Choice Cuestion

The differential equation of orthogonal trajectories of the famdly of curves given by
du {
x,,—i=0is:
F[ dx )
Oiptions :

F[I.I,I.n'. d:.r] 0
l 1

|'|'

dy | _
) F[_u.a.m]—u

F| A, —E =0
. dy |

dix

|=0
di |

FI i, A, —
£
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Ouestion Number : 72 Question Ld : 6389882092 (Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Na Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Caestion Label | Multiple Choice Question

o ] o ]

The partial differential equation 71, — 2, + 171, = £u, - iub is :
1 ¥
Oiplinns
; elliptic
parabalic
2.

5 hyperbalic

p elliptic if ¥ < 0, ¥ < 0; hyperbolic if x > 0, y > 0 and parabalicif x =0,y =0

Cmestion Number : 73 Quoestion Td : 6389882093 Question Type : MOQ Option Shoffling @ Yes Display Question Momber : Yes
Single Line Quoestion Opticn @ Mo Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Lab2] © Mudnple Choce Ouesnon

The general solution of (D° -3DD'+2D ™ j==¢"" ¥ is given by -

Oiptiions :
‘-l.-'l.._ll"J'_' |“1_.-'| - lr!l+g| 21+ ;;‘J.pi.rl' -k
1 12

i—%

1 3
x,)= flx+y)+ g2y + y)——e"
2. $ =

1 >
Ax, )= fla— 1)+ g2y —y)——¢=
5 {x, )= fH{x—i)+g(dx—y) br

:,-.-p

; 1
Hx )= Ha=y)+g(2x+y)+—¢
4 b

Crestion Number ; 74 Qoestion Ld : 6589882004 Question Type : MOOQ Oplion Shnl‘ﬂmg Yes Display Quesiion Nomber @ Yes
SII‘@E’:LIII‘ Dpnt-'sllun gptmn No Option Orientation ; Vertical Allowed Progression ; Yes mnhcruﬁh‘ph]r 999 Play On Loapd :
Mo Contred Enable ; Yes

Correct Marks : 3 Wrong Murks : 1
cuestion Label © Multiple Choice Cuestion

gcoi legedunias
Il ' L st Siusa et v Plalars

-



Given the [ PP, Max == 2., + 31,
Subjectta 3x; 42,23

.112[]_. X520

The optimal value of the objective function is :

Oipfions :

1. 2

Chestion Number : 75 Quoestion Ld ; 6589882095 Cuestion Type : MOO Oplion Shulfling : Yes Display Question Namber © Yes
%mﬂ(:: Ll:&%:“ﬁtl‘wn Opliarn ; N Orption Orientation © YVertical Allowed Progression : Yes Nomber of Beplay : 999 Play On Load :
o Cont (3

Correct Marks : 3 Wroog Marks ; 1
Cruestion Label © Multiple Choice Guesticn

Any solution to a general LPP which satishies the non-negative restrictions aof
the problem, i= called a -

Cipilons =
basic solution

5 optimal solution

feaszible solution

non-degenerate solution
4,

Omestion Number ¢ 76 Question [d ; 658UEE209G Question Type : MOQ Option Shulfling : Yes Display Question Number @ Yes
ﬂ“mgi I::‘l%m!:‘iun Orption : Mo Ogption Crieniation "-’ertln:nl Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
il nable -

Correct Marks : 3 Wrong Marks : 1
iZuestion Label - Multiple Chatce Question

In the dual simplex method, the starting solution of an LPP must be :

Oipiions =
optimal and feasible
1.
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non-optimal and feasible
2

4 optimal and infeazible

non-optimal and infeasible
4

Question Number : 77 Question Id : 6389882007 (ruestion Type : MOQ Option Shuffling : Yes Display Cuestion Mumber : Yes
Single Line Quoestion Cplion @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Labe] @ Multiple Chowce Cuestion

Let A and B be fwo convex zets in R* . Then which one of the follovwing i= not a
convex set ?

Options =

b, AuB

AmB
=

3 A+B

A-B
4.,

Ouiestion MNumber : 78 Question Ld : 63898E2098 (uestion Type @ MOOQ  Option Shiuffling : Yes Display Question Number @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Muitiple Choice Question

A particle is thrown upwards in vertical direction. If it is at height I after {, and
t, seconds, the velocity r at half of its height will be
Cipiions =

:E%E‘JH% +i’§ )

1
1 57 3
= =gy —13)
5
|
r1=—jg[t1+t:}
3 —
L ol o afia
v=—glt +1)
g 2
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Ouestion Number : 79 Question Ld : 6359882099 (Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes MNomber of Replay @ 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Caestion Label | Multiple Choice Question

A particle is thrown with the velocity r such that its range on horizontal plane
iz bwice the maximum height obtained. Itz range will be :

Opiions =
20’
-
1 £
ir®
3
2, g
3
g 8
T‘:
4 Fg

Cruestion Number ; 300 Question Dd ; 65389882100 Cruestion Type : MOOQ Option Shuifling : Yes Display Ouestion Samber : Yes
ﬁi;lglr Line %uwtl'liun Epl.wn ¢ Mo Dption Orientation : Yertical Allvwed Progression ; Yes Nomber of Beplay : 999 Play On Lood :
v Control Enable : Yes

Correct Marks : 3 Wroog Marks ; 1
Cuestion Labal - Multple Chowce Question

A uniform rod of oass m and length 20 can turn freely about a fixed end. The
least angular velocity with which it mmust be started from the lowwest position so
that it mav just make complete revolution is
Options =

-

K4
1. 1|II it
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Ouestion Number : 81 Question Ld : 6589882100 Question Type : MOGQ Option Shuffling : Yes Display Cruesthon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes MNomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Which of the following definitions is correct ?

(ipiions =
, Anactivity, which results in an outcome, is called an event

The probability of an event is expressed in decimal form ranging from -1 to
= +1

5 The sample space refers to all possible outcomes of an experiment

4 The probability that an event will occur is called the experiment

Cuestion Number : 82 Question Id : 6389882102 Cuestion Type : MOQ Option Shoffting : Yes Display Cuestion Number : Yes
Single Line Question Option @ No Option Orientation @ Vertical Allvwed Progression : Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Latl - Hu]ti.pl-E Choice Cruestion

Which of the follorving statements is not correct ?

Oiptions :
If only one of the two events A and B can occur, in other words, the
occurrence of one excludes the occurrence of the other event, then events A

and B are mutually exclusive

If event A does not occur, then its complement, A will also not occur

A union of two events (eg: A or B) occurs when at least one of the two
events occurs

It all possible outcomes of an experiment are represented by a zet, the zet is
considered to be exhaustive

Ouestion Number ; 33 Question 1d : 6389882103 Question Type : MOQ Option Shoifling @ Yes Display Question Number @ Yos
Single Line Question Option ; Mo Option Orientation : Yertical Allowed Progression ; Yes Number of Beplay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Zuestion Label - Multiple Choice Question

Two events, A and B, are said to be mutually exclusive if :

Uptions =
1 PiA|B)=1

gcol legedunias
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5 P(B|A)=1
_ P(Aand B)=1

4 PlAand B)=0

Oueestion Number : 84 Question Td : G53898R2104 CQuiestion Type : MOOQ Optlon Shuffling : Yes Display Questhon Mumber : Yes

Single Line Question Cpiion @ Mo Option Orientation : YVertical Allowed Progression @ Yes Momber of Replay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Wrong Marks : 1
Guestion Label : Multiple Chotce Cuestion
Two events, A and B, are said to be independent if :

Oypiions =
i P(A and B) = P(A4) . P(B)

- P{A and B) = P{A) + P(B)

. P(A|B)=P(B)

4 P(B|A)=PF(A)

Cuiestion Number : 85 Question Id : 6589882105 Questbon Type : MOQ Option Shuffling : Yes Display Cuesthon Mumber @ Yes
Single Line Question Cpiion @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label . Multiple Chowce Question

Fill in the mi=sing word in the following statement with one of the options
listed belows

Eients are ... when the ocourrence of one event haz: no effect on the
pfﬂhﬂbiﬁt}’ that another event vill occur
Options :

mutually exclusive
4 independent
5 exlhaustive

4 dependent

Oeestion Number ; 836 Ouestion Ld : 63892106 OQuestion Type : MOOQ Option Shaffling @ Yes Display Question Somber @ Yes
Single Line Cuestion Chplion : Mo Option Orientation : Vertical Allowed Progression ; Yes Nnmh-:ruﬁh:phr 1999 Play Omn Logd :

Mo Controel Enable : Yes
gcoilegeduniaa

Correct Marks : 3 Wrong Marks ; 1
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Cuestion Label | Multiple Choce Question
X i= the random variable, ¢ is a conztant, and V refers io the variance. Which of
the t'u]_lmﬁng larv= of varance i= not correct 7

Optiogs :
i Vic)=0

5 VIX +c)=V(X)
3 ViX+c)=V(X)+¢

, Ve X)= V)

Cruestion Number : 87 Qoestion Id : 6589882107 (uestion Type : MOOQ Option Shoffling : Yes Display Cuestion Samber : Yes
Single Line Question Cption : No Option Orientation ; Yertical Allswed Progression : Yes Namber of Beplay : 999 Play On Losd :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label @ Mulnple Chorte Cuesticn

You are given that P4 and E) =020, (A and E) =032, P(AandE ) = 0.15 and
P({A and E) = 0.33 (A denotes the compliment of 4). Which of the following
statements about A and E is correct ?

Oiplions =

i A and E are mutually exclusive and independent

5 A and E are nwutually exclusive and dependent

3 A and E are not mutually exclusive but are independent

§ A and E are not mutually exclusive and are dependent

COuiestion Number : 88 Question Id : 63898R2108 (Question Type : MOOQ Optien Shaffling : Yes DHsplay Questhon Number @ Yes
Single Line Question Option @ Mo Option Orientation : YVertical Allowed Progression @ Yes NMomber of Replay : 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Chotce Queston

It P{4) =038, P{B) =0.3 and P{A | B) = 0.6, what iz P(4 and B) ?
Oiplions :

i 0.18

2
& e

% 0.03
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0.30

Ouiestion Number : 89 Question Lo : 6S8UEEZ1090 Cuestion Type @ MOQ Optien Shulfling : Yes Display Questbon Number : Yes
Elngllé: !.Im(iz?ue-ﬂun gplhm ¢ Nu Option Crrientation : Vertical Allowed Frogression : Yes Nomber of Replay : 999 Play On Eand -
v Control Enable : Ves

Correct Marks : 3 Wrong Marks : 1
Cuestion Label | Muitiple Choice Question
You are given the following : P(A and E) = (.16, P(A and F ) = 032, and
P(A and E ) =041 Whatis P(4)?
Options ;
0.25
1,

Y7
5 0.27

.29
3

4 The data iz insufficient to calculate the required probability

Cuestion Number ; 90 Ouoestion Id : GSRYEE2110 Question Type : MOOQ Option Shoffling : Yes Display Question Nomber @ Yes
Single Line Question Cption : Mo Option Orientation : Vertical Allowed Progression : Yes Nomber of Replay : 999 Play On Losad :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice Question

You are given the fﬂllD‘h"iIIE P{4 and E) = 0.17, P(A and E ) = 0.20 and P{Efmd
E )=03 Whatis P(4|E)?

Options ;

i, 0.33

0.34

=
Ll
wn

i The data is insufficient to calculate the required probability

Crestion Number ; 91 Qoestion Ld : 6589882111 Question Type : MOOQ Oplion Shnl‘ﬂmg Yes Display Quesiion Nomber @ Yes
SII‘@E’:LIII‘ Qpnc-'slmn gpmrn i Mo Option Orientation ; Yertical Allvwed Progresson ; Yes mnbcr-d{h'ph] 999 Play On Lo :
Mo Controd Enable : Yes

Correct Morks : 3 Wroong Muarks ; 1
Caestion Label - Multiple Choice Cuestion

gcoi legedunias
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An X-ray test is used to detect a dizease that occurs, initially without anyv
obvious svmptoms, in 3% of the population. The test has the following error
rates: 7% of people who are disease free have a positive result and 2% of the
people who have the dizease have a negative result. A large number of people
are screened at random using the test, and those with a positive result are
examined further What proportion of the tests conducted give incorrect
results ?

Options ¢

" 0930

& 0.302

= 0.001

4 0.069

Number : 92 Question Id : 65389882112 Cuestion Type : MOQ  Option Shoffling : Yes Display Question Mumber : Yes
Single Line Question Option : No Option Orientation : Yertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Choice Question

You are given the following probability distdbution : p(X =-1) =04, p(X=2) =
01, p(X=3) =03 and p(X = 7) = 0.2. Which of the following is closest value of
Vi3xX -1)?

Options :
£
i 502

Ouestion Number : 93 Question Id : 6389882113 Question Type : MOQ Option Shuffling : Yes Display Cuestion Number : Yes
Single Line Quoestion Cplion @ No Option Orientation : Yertical Allowed Progression : Yes Momber of Replay : %99 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to a recent survey of households, the probability that the residents of
a houszehold owmn bvo cars if their annual household inconme is over Rs.1,50,000
iz 80%. Of the households surveyed, 65% had incomes over Rs.1,50,000 and 70%
had two cars. What is the probability that the residents of a household do not
owm two cars but do have an annual household income of over Rs.1,50,000 7

Opliogns :
gcollegeduniaa
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Ouestion Number @ 94 Question Ld : 6389882114 Question Type : MOGQ Optlon Shuffling : Yes Display Cruesthon Mumber @ Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay @ 999 Play On Load =
Mo Control Enable @ Yes

Correct Marks : 3 Wrong Marks: 1
Cuiestion Label | Multiple Choice Question

Which of the following is nmot a characteristic of the normal distribution ?

Oipiions :
i It is a symmetrical distribution

5 The mean is always zero

- The mean, median and mode are equal

i It is a bell-shaped distribution

Ouiestion Number : 95 Question Id ; 6589882115 Cuestion Type © MO Option Shaffling © Yes Display Ciestion Numiber : Yes
iiﬂng'l; l.lu:l%ues;‘hh %plhm & Mo Owption Oredentation @ Yertical Allowed Frogression : Yes Number of Replay @ 999 Play On Lagd :
v Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choice Cuestion

Which ot the following is not a correct statement ?

Oplions =
The exponential distribution describes the Poisson process as a continuous
; random variable.

The exponential distribution is a family of curves, which are completely
= described by the mean

The mean of the exponential distribution is the inverse of the mean of the
5 Poisson

The exponential distribution is continuous while Poiszon is a probability

4 distribution for a disceete random variable.
gcol legedunias
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Ouestion Number @ 9% Question Ld : 6589882116 Question Type : MOGQ Option Shuffling : Yes Display Cruestbon Number @ Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

iCniestion Label | Multiple Choice Cuestion

Which of the following do the normal distribution and the exponential density
function have in commaon ?

Opiions =
, Both are bell-shaped

o Both are symunetrical distributions

o Both approach intinity as x approaches infinity

o Both approach zero as x approaches infinity

Ouestion Number : 97 Question Id : 65389882117 Question Type : MOQ Option Shullling : Yes Display Cruestion Nomber @ Yes
Single Line Question Option : o Option Orientation @ Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Crrestion Label @ Multiple Choice Cuestion

Which of the following distributions is suitable to meazure the length of time
that elapses between the arrivals of cars at a petrol station pump ?

{ipiions =

i normal

5 exponential

5 binonual

4 Poizzon

Ouicstion Number : 98 Question Id : 6389882118 Question Type : MO0 Option Shuoiffling : Yes Display Question Mumber : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Cuestion Label - Multiple Chotce Question

A mltiple choice test has 30 questions. There are 4 choices for each guestion. A

student who has not studied tor the test decides to answer all the questions

randomly by guessing the anzwer to each question. Which of the following
probability distributions can be used to calculate the student’s chance of getting

at least 20 questions right 7

Ohptions :

; Binomual distribution

gcol legedunias
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5 Poizzon diztribution
n Exponential distribution

4 Uniform distribution

Oueestion Number : 99 Question Id : G53898R2119 Question Type : MOOQ Optlon Shuffling : Yes Display Questhon Mumber : Yes
Single Line Question Cpiion @ Mo Option Orientation : YVertical Allowed Progression @ Yes Momber of Replay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks 1 3 Wrong Marks : 1
Guestion Label : Multiple Chotce Cuestion

Which of the following cannot generate a Poisson distribution ?

Oypiions =
i The mumber of cars arriving at a parking garage in a one-hour time interval

5 The number of telephone calls received in a ten-minute interval

o The number of customers arriving at a petrol station

4 The number of bacteria found in a cubic }'ﬂ:ﬂ of soil

Cuestion Number : 100 Question I[d : 6589882120 Cuestion Type : MOOQ Option Shuffling : Yes Display Question Nomber @ Yes
Single Line Question Cpiion @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label | Multiple Choice Question

As the standard deviation for a normal distribution becomes larger with an
unchanged mean, the distribution becomes

Ohptions :
, narrower and more peaked

. flatter and wider

3 zkeved

unchanged because the standard deviation does not change the shape of
4 the distribution

Creestion Number : 100 Question Id : 6589882121 Question Type : MOOQ Option Shaffling : Yes DHsplay Chuestion Sumber : Yes
Single Line Question Opthon : Mo Option Orientation @ Vertlcal Allowed Progression : Yes Nomber of Replay @ 999 Play On Load =

Mo Control Enable : Yes
gcol legedunias
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In a popular shopping centre, the waiting time for an ATM machine is found to
be uniformly distributed between 1 and 5 munutes. What is the probability of
waiting between 2 and 3 minutes to use the ATM ?

Uiplions =

i 0.20

g Le=s than 025 but more than 0.235

i Leszs than 0.225 but more than 0.20

Cestion Number : 102 Question Id : 6589882122 Question Type : MOOQ Option Shoffling : Yes Display Question Namber @ Yes
Singg Line Question Option 1 No Option Orientation : Yertical Allowed Progression ; Yes Number of Replay ; 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
cestion Labal ;- Multiple Choice Cuestorn

The average mark on a stats test for a class of 25 students was 75%. If the 15
female students in the class averaged 70%, then what did the male students in
the class average ?
Oiptions :

Z 5R
1 32 5%

Cuestion Number ; 103 Question [d : 6589882123 Question Type : MOOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Chplion @ Mo Option Orientation : Vertical Allowed Progression @ Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Labe] @ Multiple Chowce Cuestion

A population value or characteristic that is of interest to us and that we would
like to estimate, is called

Oiptions =
;@ hypothesis

= a sktatishic
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3 inferential statishics

p a pammeter

Crestion Number ; 104 Question Id : 6389882124 Question Type : MOQ Option Shoffling : Yes Display Question Number ; Yes
Singr:c Line {E.mliun gpﬁlﬂl Mo Owption Orientation © Yertival Allewed Progression ; Yes Nomber of Replay : 999 Play On Lood ;
Mo Controd Enable : Yes

Correct Maorks : 3 Wrong Muarks ; 1
Cuestion Labeal - Multiple Chowce Cuestion

Which of the following is not the goal of descriptive statistics 7

Opiions =
3 Summarizing data

5 Displaying aspects of the collected data
5 Reporting numerical findings

o Estimating characteristics of the population

Cuiestion Number @ 105 Quoestion ld : 6589882125 CQuestion Type : MOCCQ Option Shoffling @ Yes Display Question Nomber : Yes
Single Line Question Option @ Mo Option Orientatlon @ Yertleal Allowed Progression : Yes Momber of Replay 1 999 Play On Load -
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Coueston Late] - Multiple Chowte Question

The following ages are those of 15 people interviewved at a shopping centre : 12,
14, 15, 19, 19, 21, 27, 31, 32, 46, 56, 56, 57, 58, 39. Describe the shape of a stem
and leaf plot of the data

Oipfions :

i Unimodal and skewed to the nnght

5 Unimodal and skeved ta the left
. Bimodal

4 Symmetrical

Cuestion Number ; 106 Qoestion Id ; 6589882126 Question Type : MOOQ Option Shoffling : Yes Display Question Nomber ; Yes
Single Line Question Option 1 No Option Orientation ; Vertical Allvwed Progression : Yes Number of Beplay : 999 Play On Losd :

Mo Control Enable : Yes
gcollegedunias

Correct Marks : 3 Wrong Marks ; 1
Question Label - Multipte Choice Questicn
Il ' L st Siusa et v Plalars

-



If vou have data on the yearly average temperature at the airport from 1947 to
2019, and it vou are particularly interested in change over time, what is the
most effective graphical display ?

Options :

i line chart

scatter plot
2.

ogive
3

i Histogram

Cuiestion Number ¢ 107 Question Ld : 6589882127 Cuesthon Type = MOOQ Opthon Shoffiiog @ Yes Display Question Number : Yes
Single Line Question Cptlon @ Mo Option Orientation : Vertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label : Multiple Chotce Queston

The difference between a histogram and a bar chart is that

Oiptinns :
the histogram reflects gualitative data while the bar chart represents

gquantitative data.

the adjacent rectangles /bars in a histogram have a gap while those for a bar
chart donot.

[

the histogram reflects both qualitative and quantitative data while the bar
3 chart represents only qualitative data.

Nome of the three

Number : 108 Question Id : 6589882128 Cruestion Type : MCOQ Option Shoffling @ Yes Display Cuestion Mumber : Yes
Single Line Quoestion Cption @ Mo Option Orientation : Yertical Allowed Progression @ Yes Momber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 YWrong Marks : 1
Cuestion Label @ Multiple Choice Oueston

Everydav, vou make the trip from your home to work by car. The travel tinwe to
work from home is equally likely to be amywwhere between 10 minutes and 25
munutes, but is never less than 10 muinutes or more than 25 nunutes, What is the
probability that on a randomly selected day you will take more time than

gcollegeduniaa
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previous day but not more than 5 minutes to travel to work from home ?

Oiplions :



g 1/18
5/18
2.
13/18
3.

17./18
4

Ouestion Number @ 108 Quoestion Ld : 6589882129 Cuestbon Type = MOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Crption © No Option Orientation @ Yertical Allowed Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks ¢ 1
Suestion Label : Multiple Choce Question

It A, B, C are three events with B and C being independent then P(A4 | B) is equal
to:

Oiplions =
. P(A|Bn O) P(O)

5 P(A|Bn C)P(C)

- P(A|BNC)P(C) + P(A| B C)P(C)

4 PA[BN O PIO)-PA|BN C)P(C)

Ouestion Number @ 110 Question Ld : 6589882130 Cuesthon Type = MO Option Shuffling : Yes Display Question Nomber : Yes
Single Line Quesiion Cpiion @ Mo Option Orientation : Yertical Allvwed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correet Marks : 3 Wrong Marks: 1
Cuiestion Label | Multiple Choice Cuestion

A rod of length 'b’ cms. is broken into three parts at random. What is the
probability that a triangle can be formed from the parts ?

Options =

/3
1.1‘
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Cuestion Number @ 111 Question Id : 6589882031 Cuesthon Type = MOQ Option Shoffling @ Yes Display Question Nomber @ Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

X and Y are two independent random variables having equal means and equal
variances. Then the correlation coefficient betiwveen X + KY and KX + Y

51 : increases as K increases
52 : negative for K < 0 and pos=itive for K >0
Select the correct answer from the following codes

Oipiions =
{ Both 51 and 32 are true

5 51 is true but 52 is false
3 51 i= false but 52 is true

I Bath 51 and 52 are falze

Oueestion Number : 112 Question ld : 6589882132 Cuestbon Type = MOQ Option Shuffling © Yes DMsplay Question MNamber @ Yes
Single Line Question Option @ No Option Orientation : Vertical Allowedd Progression @ Yes Number of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Conzider the events 4 and Bsuch that P(4)=1/4 P(B|A)=1/2and P(A|B) =
1/4 The randeom vanables X and Y are defined as -

Ximy=1ifwed

= 0, otherwisze
and
Y(w)= 1l,itweB

= 0, otherwize

Which of the following is true ?
Oiptins :

y PIX=0nY=0)=5/8

; PIX=0nY=1)=1/8

. PX=1nY=0)=3/8

i PX=1nY=1)=1/8

gcollegeduniaa
Il ' L st Siusa et v Plalars

-



Cuestion Number @ 113 Quoestion Id : 6589882133 Cuesthon Type = MOQ Option Shoffling : Yes Display Cuestion Nomber : Yes
Single Line Question Option @ Mo Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay 1 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Caestion Label | Multiple Choice Question
The distribution function of any random vanable is

5, : always right continuous
52 - may be discontinuous at countable number of points
55'. monatone NON-HICEeazuLg.

Choose the correct answer from the following -

Oiptions -
. 3, and 5, are true but 5, i= falze

S, and 5, are true but 5, is false
5, and 5; are true but 5, is false

5., 5, and 5; all are true

Omestion Number ; 114 Quoestion Id : 65R9E8213 Question Type = MOOQ Option Shoffling © Yes Display Cuestion Namber ; Yes
Eim%e I.lm(ﬁhﬁm ?plhrll ¢ Mo Option Orientation © YVertical Allewed Progresion : Yes Nomber of Replay : 999 Play On Lood :
vy Cont e Ve

Correct Marks : 3 Wrong Murks : 1
Cuestion Label - Multiple Chawce Question

The probability mass function of a random variable X is given below
flx)y=x/15; x=12345
=0, othervize

Then the conditional probability that X lies between 1/2 and 5/2 given that X is
greater than 1 1= :

Oiptions :
1/7
Iy

> 3/7

5
3 2/15
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Cuestion Number @ 115 Question Id : 6589882135 Cuesthon Type = MOQ Option Shoffling @ Yes Display Question Nomber : Yes
Single Line Question Option @ No Option Orientation : Yertical Allowed Progression @ Yes Nomber of Heplay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question

Read the following statements carefully in context of the function given below
Fixy=0ix <0

=3¢, if0<a <]

=dc-7c%,iflsx <2

=9c-7c*-1,if 255 <3

=] if3<2a

Assertion (A) : F(x) can be cumulative distribution function of a continuous
pozitive random variable for properly chosen value of '¢’

Rrason(R) : For proper choice of ¢, F(1) 1= monotone and bounded betvween 0
and 1.

Select your ansiwver from the following codes ;

Options -
; Both A and Ris true and R is correct explanation of A

o Both A and Ris true but R is not correct explanation of A

5 A iz true but R is falze

4 A is false but R is true

COueestion Number ¢ 116 Question Ld : 6589882136 Cuesthon Type = MOQ Opthen ShofTliog @ Yes Display Question Number : Yes

Single Line Question Cption : Mo Option Orientation @ Vertleal Allowed Progression : Yes Nomber of Replay : 999 Play On Load =
Mo Controd Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label - Multiple Choice CQuestion
Read the following statements carefully :

5, : Poisson distribution is limiting case of Binomial distribution.
- - Poisson distribution is limiting case of Negative Binomial distribution.
5; : Geometric distribution 1s special case of Negative Binomial distribution.

Choose the correct answer from the tollowing

Options ;

i 5, and 5, are true but 5, is false

4 S5, and 5, are true but &, is false
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3 5, and 5, are true but 5, is false

P S, and 5 all are true

Quiestion Number : 117 Question Ld : 6589882137 Question Type : MOQ Option Shulfling : Yes Display Cuestion Momber : Yes
Single Line Question Option @ Mo Option Orientation : Vertical Allowed Progression : Yes Mumber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Label ; Multiple Chawce Question

Mean is always less than variance for

Oiplions =
; Negative Binomal distribution only

, Geometric distribution only

3 Negative Binonual distribution and Geometric distribution both

4 Neither Negative Binomial distribution nor Geometric distribution

Chuestion Number ¢ 118 Question bd : 65RYBS2138 Question Type : MO Option ShulMing © Yes Display Cuestion Number @ Yes
Single Line Question Crption : No Option Orientation @ Yertical Allowed Progression : Yes Number of Replay : 999 Play On Lood -
Mo Controd Enable : Ves

Correct Marks : 3 Wrong Marks : 1
Cuestion Label : Multiple Choice Ouestion
The statistic defined as the distance behveen 70th sample percentile and 30th
sample percentile gives us the information concerning -
Oipiions =
central tendency

5 dizpersion

5 sketwmess

i kurtosis

Cuestion Number : 119 Question Id : 6589882139 Question Type : MOQ Option ShafTling : Yes Display Question Mumber @ Yes
Single Line OQmestion Crption @ Mo Option Orientation : Yertical Allowed Progression : Yes Nomber of Replay : 999 Play On Load :
Mo Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Cuestion Lab«El - Multiple Choice Cuesticn
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For a frequency distribution, a student calculated the value of fi; and B, and
reported these as 097 and 1.78 respectively.

Assertion (A) : The student has committed calculation nustake.
Reason(R) : The value of f; can never be less than 1

Select your answer from the following codes :

Oipfions :
y Both A and R is true and R is carrect explanation of A

» Both A and Ris true but R is not correct explanation of A
5 A is falze but R is true

i A is true but R iz false

Crestion Number ; 120 Question Id ; 6389882140 Question Type : MOQ Option Shoffling : Yes Display Question Number ; Yes
Singlltl:: Line {:énn'sl:liun gp&:m Mo Owption Orientation @ Yertival Allwed Progression ; Yes Nnmbtrufﬁph] 2999 Play On Laad :
Mo Contred Enable : Yes

Correct Maorks : 3 Wrong Muarks ; 1
Cuestion Label - Multiple Choice Cuestion

Consider the equations of lines 3X + 4Y = 45 and 3X + ¥ = 27. Chooze your
comment from the following codes in context of these lines representing the
pair of regrezzion lines :

Oiptions :
; The regrezzion coefficient of ¥ on Xis-3/4

5 The regression coefficient of Y on Xis -3

5 The correlation coefficient betvween X and Y 15 1/2

¥ These can never represent a pair of regression lines
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